ISecondary Science Paper key

Ans.1.d) AT
Clay

Ans.2.a) 3d=T &1 gl

Remain same

Ans .3. fdegd grT
Electric current

Ans.4. YehIT T Taaigor
Dispersion of light

Ans.5.b) AG R AT T &
dar R,A &1 ggr
SITET AT &

b) Both A and R are
true and R is
not the correct
explanation of A

Ans 6. g IRT T 3UeT g2l & FHIY 8 8, SHTAT ThIl & ggd A &
w7 7 oS &t &1 AR 59 Rl 78 Y 3eieh et fSig A A Y Teft g
Fidl & AR e H JAA Tl dTel Th12l H glel aTell IRl e e &
3TTYTY &1 19T | SHRT AT & o I8 A §H Uah o1l digdT T Tehrer f&erar
1 Ig femfeame arel YaTa &t HHATCT X &1 § TS HROT U 81
feafeara|

The planets are much nearer to the earth as compared to the stars, so
these can be considered as broad sources of light. If we consider a
planet as a collection of a large number of point sized source of light
then the total variation in the amount of light entering in our eye from all
individual point sized sources will average out to zero. It means that we



get light of constant intensity from a planet. This nullifies the twinkling
effect and hence the planets do not twinkle.

Ans.7. [dHaeaT, v=220V

faega amr, 1 =5A
AT, t=2 F¢
faeg e AT & euferd,
P =VI
P=220x5
P=1100W
fegd AR garT 3ugeFd Fal,
E =Pxt
=1100Wx2h
=2200Wh
=2.2kWh
=2.2 gfae
=2.2x3.6x10°J
=7.92x10° [

3rar
faed aT-—-for el aTereh 31 AT & JaTs 1 aX & faegd OaRT F6d ¢ |
@, | =Qit
Igl'I' faege URT,'Q" TRl T 't HHI Y SATT &1 g rT &7 S|
AEH VFRR g

Electric current
() =5.0 A
Potential difference
(V)=220V
Power of electric motor,
P =VI
=(220 x 5)W
=1100W
Time (t)=2W
Energy consumed, E=pxt
=1100Wx2h



=2200Wh
=2.2kWh
=2.2x3.6x10°J
7.92x10°%J
Or
Electric current: The rate of flow of charge through a conductor is called
electric current.
Formula, 1=Q/t
Where, | is electric current, Q is electric charge and 't' is time .
The Sl unit of electric current is Ampere

Ans.8. a) faegd 4RT &l THTHIET & AT ST 8| faegd aRuy & veiefiex
Eﬁf'@l’UﬁshH 3 ST ST ¥ TR T G A T
b) A S g, | = Q/t

1 A=1c/1s
HTAT & Iie; fohdll TTereh H Ueh Qehs H Teh Grell# TR FaTled &1 ol 3HH
yarfe fed ORT T Teh UFRR FEd € |

a) An ammeter is used to measure electric current it is connected in
series in an electric circuit symbol of ammeter
b) We know that
I=Q/t
1A=1c/1s
1 Ampere: Current flowing through a conductor is said to be 1 A if one
coulomb charge flows through it in 1 s.

Ans.9. ThdlY YRTATEY JAATehR UM & ShRUT Yeehrd &7 - 519 fohall bR
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Ans.9. magnetic field due to a current through a circular loop. When
current flows through a circular loop, then magnetic field develops
around every point of the loop in form of concentric circles. At every
point of a current- carrying circular loop, the concentric circles
representing the magnet field around it would become larger and larger
as we move away from the wire. By the time we reach at the centre of
the circular loop the arcs of these big circles would appear as straight
lines. Every point on the wire carrying current to give rise to the magnetic
field appearing a straight line as the centre of the loop. Every section of
the wire contributes to the magnetic field lines in the same direction
within the loop.

Or
Q.9.the two commonly used safely measures are
i)electric fuse wire=
working on electric fuse-it is a wire which is used in the live wire,lt is an
alloy of lead and tin whenever there is a flow of heavy electric current
and cuts off the supply of electric current . Thus, it saves the electric
wires from damage.
Working on earth wire : It acts as a safety device whenever there is a
leakage of electric current in the metallic body of an electric appliance
like an electric iron, toaster etc. By using earth wire , the user does not
get a sever electric shock as it provides a low conducting path for the
electric current.

Ans.10. a) 3T 31 3/@de gUuT & 9T e @d 3R & -



3del gUuT
Koi) 3Tl gUUT & URTacieh ool aTeY &1 30X ash gldT &1
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V) HETEIR &1 ey T 3TaRe e £

37ddof guoT

i) 3TacTel GUUT #H WRTdcieh ool 31X FI 3R Tk gl g |
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b) EUOT HF - 1/v+1/u=1/f
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f=thierg

u,t,v & ST ST TG gU0T T Fgeld &

C) 3cTeT ol sl thlehd GJT HUTcHe Idl &,
t=-2m

P=1/t(inm)=1/-2D=-0.5D
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New cartesian Sign
conventions used for reflection by spherical mirrors .

Object an the left

Direction
A incident light
"M{..M Distaner towards
e}

the beft {-vel ~—therghiteve T
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i) The object is placed on the left side of the mirror i.e, the light is
incident on the mirror from the left side.

ii) All distances parallel to the principal Axis are measured from the pole
of the mirror.

iii)all the distance measure to the right of the origin(along + x- axis ) are
taken as positive while those measure to the left on the origin ( along - x-
axis ) are taken as negative .

iv) Distance measured perpendicular to and above the principal axis (
along + y- axis ) are taken as positive.

v) Distances measured perpendicular to and below the principal axis (
along - y- axis) are taken as negative.

Section B ( Chemistry )
Ans.11.c) N,

Ans.12. b) FsATATS
b) Endothermic

Ans.13 . IWwIEC

graphics

Ans. 14. The property of metals due to which they can be beaten into
thin sheets is called malleability

T3t & e e 3 el et &5 &9 3 TR e & aqoT
AT Fad & |

Ans .15.a) Ad R glsil Hcd § dUT R, A &l TEY IT&AT ¢
a) A and R both are correct and R is correct explantion of A

Ans.16. Those chemical reaction in which a single reactant breaks down
into two or more simple products are called decomposition section



Example :

ferrous ferric sulfur sulfur
sulfate oxide trioxide  dioxide

FeSO, —"a'., Fe,0, + SO, + SO, ‘

Taitetet JrTATHATT - Toret Tt HTATHATIN 7 Teh 3iTHhAs Tlel
Hagdl H T ST &, 37 [QATSTsT (T8 )3 TATHAT Hgd g
Sa-

FeSO, "', Fe,0, + SO, + SO,
ferrous ferric sulfur sulfur
sulfate oxide trioxide  dioxide

Ans.17. Na ,CO,x 10H,0 &ITaT gisT
39T 1 : i, AT 3R HIaTST 31T H 3TLET

2. SToT hY TUT HENT T g A H 39197
Na ,CO ;x10H,0 -

washing soda
Uses - 1. Used in glass, soap and paper industry .

2. To remove permanent hardness of water

Ans. 18

a) flafero=r B
b) faferaer C
c) aferaT A

a) solution B
b) solution C
c) solution A

Ans. 19.i) 3Fe+ 4H,0[Z]Fe,0,+4H,

ii)Ca+ H,02J
Ca(OH),*+H,



iii) 2K + 2H,0 ]2KOH+H,
3_rdar
Gfast U 3 A Reafaf@a die 3iaT &
afasr
|)a‘§n$ﬁ$qar2?r%maldu dg 3eToh AT UTT ST & ,TfAsT hgolia &1
||)EﬁHﬁHTH$HHHTﬁW§3ﬂT-ﬁ%I
iii) Fﬁﬂ@ﬁﬁmﬂﬁ@ﬁl
ITTH
i) 9% Giesl 1T @ U131 Y UTC AT Xl U AT &, 3TEh
FEeld 8
ii) 3Tt & YT Y AT 31T gl &
iii) TN 3rTEF Whae g gl

Or
Minerals

i) Those natural substances who contain mental or their
compounds are minerals.

ii) A mineral contains less amount of metal.
iii) All minerals are not ores.
Ores
i) those minerals from which metal is extracted easily and
economically are called ores.

ii) an ore contains more amount of metal.
iii) All ore are minerals.
Ans. 20.

a) HIgeFeildecel T A - CsHy
Wﬂﬁ?@rmaﬂ?sﬁwﬁgﬁawm S YR g-

b)mammﬁaﬁm 3Fe H AR & Torw A=t gaier fhar o
Tehd g



gyaToT
i) 3T FEfae TeToT|

i) forcaa adigToT|

iii) &I KMnO,, 9Y&7oT|
3Tedhlgel

i) I SR et 81|
ii) 337 3 P15 IR =T8T BTl
i) TS {7 FATCA &1 ST |
eI feleh el
i) CO, 3 3cafaa g g
ii) el forcH Y ol 8 SITaT &
iii) IS fohaT A8 giair|
372rar
a) i) WUsIIgs 31T
HEIEGIE
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Ans. 20.
a) formula of cyclopentane - C ;H,,,

Structure and electron dot structure of cyclopentane is as follows
Fig.
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b) Test
i)Na,CO;test
ii) Litmus test
iii) Alkaline KMnO, test

Alcohol

i) No reaction

ii)No change

iii)Pink colour
disappears

Carboxylic acid

i) CO, is produced
ii)Blue litmus turns red

iii) No reaction
Or

a)(i) propanoic acid
(if) Propanol

12



Section C

Ans 21. a)XX
a)XX

Ans. 22 b) gTH, g AT AT |
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b) grass ,goat and human

Ans . 23 3715l W
Ozone layer

Ans. 24, 3{3cTIRNT
Pancreas

Ans:25 (a)
(a)

Ans . 26.
mmwwmﬁmﬁmmmaﬁmwm
g gl %@T%ﬁo‘é’rm@rﬂﬁﬂmﬁﬂbwd RED qszml %“}ﬁTEHTrﬁ%‘r
wﬁrﬂuﬂarmﬁamﬁvﬂwm%aﬂ?mmam%l

The spinal cord has a major role than brain in completions of reflex
action. The message of stimulus from any part of the body reach
rapidly to the spinal cord and response is transmitted back to the
concerned muscles with the same speed and the action completes.

Ans. 27.
GITITUT

i) TR19T I & GRET0T BT Ffciehrar I TG e=AT IRIT0T HgelTel ¢ |
ii) 39 fohaT & JIATST et Tl |
ii) 7g T 3o aof & haer et A @I B

IGLEG]

i)eTX U ATCT JaA & Holdel T fshaT fAS<eT Shgollal ¢

i) fohaT & JarAeTl S1cT & |
iii)g TohaT 3T gat & il v Siq3it alet #H giel &
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Difference between Pollination and fertilisation:
Pollination

i) The transfer of pollen grains from anther lobes to stigma is called
pollination.

ii) In the process, zygote is not formed.

iii) This process takes place only in the plants of high category.
Fertilisation

i) The process of fusion of male and gametes is called fertilisation.

ii) In the process zygote is formed.

iii) This process takes place both in plants and animals of high
category.

Ans . 29. A o HeX T Teh AT Qe IAT TTH aieT qUT Gl a7 o st
o TUT g A o dIeT FIRER TAUT G T & | 3HA =l el 1 Teh
HehLOT hrAT|
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F, drer & Teft gt & &iiet aiter 31K 9l | S8E 9dT IeldT ¢ 1o sl & Jiel
o dielT a7 FTel oT&T0T & AT SIGR &Y Ud 8T LT T ofaTor §| S8Heh
q2ard F, mﬁwﬁtﬁwwmamwﬁmﬁmmw
mﬁa?rcrrvcrgml deﬂaﬁmmuﬁtﬁﬁm%aﬂaaﬂ‘hﬂ%m&mu
TiYeT Td &Y 17 & oie arer A ot uree g 3 9HR,ZRIER Ue &Y T %
aﬁaarﬁﬁ%ﬁ%mﬂ-mﬂaﬂamatﬂ%fm%aﬁaarﬁqﬁaﬁwml
qert & UTeaT oleTuit BT 7T TS g e T ¥ i e sreTor
TIAT §9  GAGI &I &

3gar

oATel Poef aTel GIEY & GeT T siTell T THTAT T&T0T § STelfeh SHPT Hihe, a7
3THATAY T80T & | ST silel Goef aTel e ST HehOT Hihe, Pt dTed GIT & YT
ST § Al 36 Yk ol folaot [T gan geiffar Jrar |

Blue: White
3: 1
1)F, dafd & qaft gell T TaT el g1
2)F, afd & TTURIE0T ¥ 9red F,adid &
1/4%x 100=25%
Tol {7 Hihe, & il

Ans. 29

In order to study the inheritance of two pairs of contrasting traits
in pea- plant, mendel selected pea- plant having round and yellow
seeds and other plant having wrinkled and green seeds. he cross
breeded both these plants.

After cross breeding of both these plants he obtained only yellow
and round seeded plants in F1 generation. This experiment shows
that the traits of round and yellow seeds in pea plant is dominant
and the traits of wrinkled and green seeds is recessive after this he
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cross breeded plants of F1 Generation and obtained plants having
new combination along with the round and yellow seeded plants
similarly he also obtained wrinkled and yellow seeded plants along
with wrinkled and green seeded plants the new combination of
traits in plants shows that traits are inherited independently.

Or
Ans:29

Blue colour of flowers is dominant and white colour of flowers is
recessive. Cross breeding of a plant having blue coloured flowers
with a plant having White coloured flowers can be stone shown by
the following diagram.

Blue | whie |

Blue:White
3:1

Ans (1).All the flowers will have blue colour in the F1 generation.

Ans (2).1/4x100% = 25% percent of white flowered plants will be
produced in F2 generation through self pollination of F1 plants.

Ans. 30.
a) Teh TaiT T 3TIEY e H -
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b) a8 YshA ST &Y A g A CO, 7T HeT A WiAsT FquT U STel ol
aﬁ%warﬁmﬁmmﬁ%s@rw&rmﬁwm% TehIRT HLIYUT
TR & ENTeT TR BeaTy gl &-

i) FARIeT GaRT YR Foll &l T AT |

ii) TTA ST I AHTITAS Foll H FATARA HIEAT|

i) SToT 3TUT3T T BTSZIoTeT T JiTeFToTel # 3TEeH |

iv) SIeeT SISTFHSS I HIEBISIC H ITTIA|
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3dar

a) HATAd g I cTIEUTcHSD hIC hl T

b) TR & &Y

i) ST I eTsfoleT AT USITSH 8T & St Ty & T & aRafdd &2 &dr
ﬁ)lwaﬂaﬁﬁmﬁmaﬁwqmﬁﬁaﬁm%l

O T &

)39 T & 3URTUd USISAT i Tohdm & Tolv O 10 #ATET#H &l &R
AT 8 |

ii) 7E T % I3 ghsT T OIC-OIE Thsl A g AT E 0 TET A
SHEHIHIOT Ed ¢ |
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Ans. 30.
a) labelled diagram of cross section of leaf

b) A process in which green plants take CO? from air , water and
minerals from the soil and prepare their own food in the presence
of sunlight and chlorophyll is called photosynthesis.

The following events occur during photosynthesis:

i) Absorption of light energy by chlorophyll.
ii) conversion of light energy of chemical energy.

iii) splitting of water molecular into hydrogen and oxygen .
iv) reduction of carbon dioxide to carbohydrates.
Or

a) labelled diagram of cross section of human heart:-

b) Role of saliva:

i) Saliva contains an enzyme called salivary amylase (ptyalin) which
breaks down starch to give sugar .
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ii) Saliva also kills microorganisms present in food.
Role of bile juice:

i) Bile juice makes the medium alkaline for the pancreatic enzymes
to act .

ii) It breaks large fat globules into smaller globules which is known
as emulsification of fats.



